ELZS IR SR A Y %

EE, ElO

R H B A PR A T
T AT TR BT 4 8520205 65 1%
TEL: 021-57640006 FAX: 57644031
www.freddie.net.cn

ki




e 5, B

PAI20| R | N |-|6B|—-|A14

e @ 6

OW B H AR (AR LS R B H)

QW LR (AR LA R B HE)

W LA ot (AR LS R 5 H)

(D FL 7 v

Pugfiesk: 47 TR 4x2.5) . 6] (B 1 R~) 6x4)

SHEEY, AB (I TR 4x25) . 6B(E T RAf 6x4)  vexie
AEERESL . B3. B4. B5. B6 B
N g 4. )

BO1 (G1/8) . B02(G1/4)
B BB L 30

W1 ATHEER EWR I, WRAEE R P3OFS, ELASERIEYUERESL, i EAL 6 T,
GARMRLLIE M14.,
5k PA3OFS—6]-A14

il 2:  ATHEER B, RSB P1OBN, ELASIIE SR, B 4x2. 5 T,
ZREWRLLE M12,
75 4 : PATOBN-4B-A12

B 3. AT B &R, AR, BEimAECESk, B PSORN WA H
PIEHR 22, ZIEMREE M14.
5 k. PA3OR-B6-A14

Bl 4. T e R T R, ANECIRAEE CFIP3ORS WRALACE A D (75 il B FHAE AR
MREL ), BERumARCESk, ANRCEEIR2Z, 23R a0ik M4,
5% PA30(R)-B6-A14



()M A It

5 d
PA1R()-4B-A5 1
PA2R()-4B-A5 2
PA3R()-4B-A5 3
PA4R()-4B-A5 4

uiRe) d | L1
PAGR()-6B-A8 6 7
PASR()-6B-A8 8 | 55
PA8P()-6B-A8 8 | 55
PA10P()-6B-A8 10 | 5.8
PA15P()-6B-A8 15 | 65
PA20P()-6B-A8 20 | 7.3

23

ol %-/Hga o
__[F—M35x0.5
H a
— .
@d
95
—
g .
o
|
o I MO
a M8X0.75 5 &

1.5

L1




<

.
H12
MLOX1
\

aJ
—

2.0

18.5

=

L1

£8.5

L1

uiRe) d | L1
PABR()-6J/6B-A10 6 7
PA8R()-6J/6B-A10 8 | 55
PA8P()-6J/6B-A10 8 | 55
PA10P()-6J/6B-A10 10 | 5.8
PA15P()-6J/6B-A10 15 | 6.5
PA20P()-6J/6B-A10 20 | 7.3

uiRe) d | L1
PA10R()-6B-A8 10 | 8
PA15R()-6B-A8 15 | 9
PA4L()-6B-A8 4 | 135
PAGL()-6B-A8 6 | 135
PA8L()-6B-A8 8 | 135
PA10L()-6B-A8 10 | 15.5
PA15L()-6B-A8 15 | 155
PA10B()-6B-A8 10 | 16
PAGLB()-6B-A8 6 | 165
PASLB()-6B-A8 8 | 165
PA10LB()-6B-A8 10 | 17
PA15LB()-6B-A8 15 | 19

HL10
M8X0.75
N

—

£8.5

L1




Fithe) d L1
PA10R()-6J/6B-A12 10
PA15R()-6J/6B-A12 15
PA4L()-6J/6B-A12 4 13.5
PAGL()-6J/6B-A12 6 13.5
PA8L()-6J/6B-A12 8 13.5
PA10L()-6J/6B-A12 10 | 15.5
PA15L()-6J/6B-A12 15 | 15.5
PA10B()-6J/6B-A12 10 16
PAGLB()-6J/6B-A12 6 16.5
PA8LB()-6J/6B-A12 8 16.5
PA10LB()-6J/6B-A12 10 17
PA15LB()-6J/6B-A12 15 19




] d L1

PA20A()-6J/6B-A12 20 11
PA25A()-6J/6B-A12 25 12
PA30A()-6J/6B-A12 30 14
PA40A()-6J/6B-A12 40 | 175
PA50A()-6J/6B-A12 50 18

PA10AAG()-6J/6B-A12 10 11

PA15AAG()-6J/6B-A12 15 11

PA20AAG()-6J/6B-A12 20 13.5

PA10BAG()-6J/6B-A12 10 11

PA15BAG()-6J/6B-A12 15 11

PA20BAG()-6J/6B-A12 20 13.5

PA25AG()-6J/6B-A12 25 | 19.3
PA30AG()-6J/6B-A12 30 | 19.3
PA30BAG()-6J/6B-A12 | 30 | 16.3
PA40AG()-6J/6B-A12 40 | 19.3
PA50AG()-6J/6B-A12 50 | 19.3 ‘
PA20BF()-6J/6B-A12 20 | 125
PA25F()-6J/6B-A12 25 14
PA30F()-6J/6B-A12 30 12
PA35F()-6J/6B-A12 35 14
PA40F()-6J/6B-A12 40 14
PA50F()-6J/6B-A12 50 15
PAGOF()-6J/6B-A12 60 21
PASOF()-6J/6B-A12 80 23
PA95F()-6J/6B-A12 95 | 235
PA25FO()-6J/6B-A12 25 14
PA30FO()-6J/6B-A12 29 12
PA35FO()-6J/6B-A12 35 12
PA40FO()-6J/6B-A12 40 14
PA20L()-6J/6B-A12 20 | 172 | VT &Hla
PA30L()-6J/6B-A12 30 | 17.2 | -
PA40L()-6J/6B-A12 40 | 172

o

PA20R()-6J/6B-A12 20 10

PA25R()-6J/6B-A12 25 11

PA40R()-6J/6B-A12 40 14

)-
)-
PA30R()-6J/6B-A12 30 11
)-
)-

PA50R()-6J/6B-A12 50 15




PA10ABG()-6J/6B-A12 | 10 | 17
PA15ABG()-6J/6B-A12 | 15 | 19.5
PA20BG()-6J/6B-A12 20 | 19.5
PA30BG()-6J/6B-A12 30 | 305
PA40BG()-6J/6B-A12 40 | 305
PA50BG()-6J/6B-A12 50 | 36.5
PA75BG()-6J/6B-A12 75 | 46
PA20B()-6J/6B-A12 20 | 19
PA30B()-6J/6B-A12 30 | 23
PA40B()-6J/6B-A12 40 | 30
PA50B()-6J/6B-A12 50 | 32
PA30J()-6J/6B-A12 30 | 18
PA35J()-6J/6B-A12 35 | 18
PA40J()-6J/6B-A12 40 | 18
PA50J()-6J/6B-A12 50 | 20
PAB0J()-6J/6B-A12 60 | 25
PA70J()-6J/6B-A12 70 | 26
PA80J()-6J/6B-A12 80 | 26
PA20LB()-6J/6B-A12 20 | 22.2

24,/

c4

L1

Dol




04/

24

11

35

PASC()-6J/6B-A12 5 13
PA7C()-6J/6B-A12 7 13.5
PA10C()-6J/6B-A12 9 18.3
PA15C()-6J/6B-A12 15 26.1
PA18C()-6J/6B-A12 18.6 | 26.3
PA20C()-6J/6B-A12 20 26.3
PA30C()-6J/6B-A12 32 37.5
PA40C()-6J/6B-A12 42 46
PAG0C()-6J/6B-A12 62 55
PA20W()-6J/6B-A12 20 25
PA30W()-6J/6B-A12 30 38.5
PA40W()-6J/6B-A12 40 45
PA50W()-6J/6B-A12 50 56
PA4x10E()-6J/6B-A12 4x10 11
PA4x20E()-6J/6B-A12 4x20 11
PA4x30E()-6J/6B-A12 4x30 11
PA5x10E()-6J/6B-A12 5x10 11
PA5x20E()-6J/6B-A12 o5x20 11
PA5x30E()-6J/6B-A12 5x30 11
PA6x10E()-6J/6B-A12 6x10 11
PAG6x20E()-6J/6B-A12 6x20 11
PAG6x30E()-6J/6B-A12 6x30 11
PA8x20E()-6J/6B-A12 8x20 11
PA8x30E()-6J/6B-A12 8x30 11




o4,/

c4

s

24

Ll

ute) d | L1
PA20A()-6J/6B-A14 20 | 11
PA10AAG()-6J/6B-A14 10 | 11
PA15AAG()-6J/6B-A14 15 | 11
PA20AAG()-6J/6B-A14 20 | 135
PA10BAG()-6J/6B-A14 10 | 11
PA15BAG()-6J/6B-A14 15 | 11
PA20BAG()-6J/6B-A14 20 | 135
PA25AG()-6J/6B-A14 25 | 19.3
PA30AG()-6J/6B-A14 30 | 19.3
PA30BAG()-6J/6B-A14 30 | 16.3
PA40AG()-6J/6B-A14 40 | 19.3
PA50AG()-6J/6B-A14 50 | 19.3
PA20BF()-6J/6B-A14 20 | 125
PA25F()-6J/6B-A14 25 | 14
PA30F()-6J/6B-A14 30 | 12
PA35F()-6J/6B-A14 35 | 14
PA40F()-6J/6B-A14 40 | 14
PA50F()-6J/6B-A14 50 | 15
PABOF()-6J/6B-A14 60 | 21
PA8OF()-6J/6B-A14 80 | 23
PA95F()-6J/6B-A14 95 | 23.5
PA30FO()-6J/6B-A14 29 | 12
PA20L()-6J/6B-A14 20 | 17.2
PA30L()-6J/6B-A14 30 | 17.2
PA40L()-6J/6B-A14 40 | 17.2
PA20R()-6J/6B-A14 20 | 10
PA25R()-6J/6B-A14 25 | 11
PA30R()-6J/6B-A14 30 | 11
PA40R()-6J/6B-A14 40 | 14
PA50R()-6J/6B-A14 50 | 15




o6,
B4.7
\ |
| } | 6d %65
| B‘6 |
L_____ ‘ ,,,,, i
MEXT—=
[
~ | H14

c4

L1

PA10ABG()-6J/6B-A14 | 10 | 17
PA15ABG()-6J/6B-A14 | 15 | 19.5
PA20BG()-6J/6B-A14 20 | 19.5
PA30BG()-6J/6B-A14 30 | 30.5
PA40BG()-6J/6B-A14 40 | 30.5
PA50BG()-6J/6B-A14 50 | 36.5
PA75BG()-6J/6B-A14 75 | 46
PA20B()-6J/6B-A14 20 | 19
PA30B()-6J/6B-A14 30 | 23
PA40B()-6J/6B-A14 40 | 30
PA50B()-6J/6B-A14 50 | 32
PA30J()-6J/6B-A14 30 | 18
PA35J()-6J/6B-A14 35 | 18
PA40J()-6J/6B-A14 40 | 18
PA50J()-6J/6B-A14 50 | 20
PAB0J()-6J/6B-A14 60 | 25
PA70J()-6J/6B-A14 70 | 26
PA80J()-6J/6B-A14 80 | 26
PA20LB()-6J/6B-A14 20 | 22.2




,,,,,

H17
Ip)
M14X1 o

c4

H14

L1

PA5C()-6J/6B-A14 5 13
PA7C()-6J/6B-A14 7 | 135
PA10C()-6J/6B-A14 9 | 183
PA15C()-6J/6B-A14 15 | 26.1
PA18C()-6J/6B-A1 4 18.6 | 26.3
PA20C()-6J/6B-A14 20 | 26.3
PA30C()-6J/6B-A14 32 | 375
PA40C()-6J/6B-A14 42 | 46
PABOC()-6J/6B-A14 62 | 55
PA20W/()-6J/6B-A14 20 | 25
PA30W()-6J/6B-A14 30 | 385
PA40W()-6J/6B-A14 40 | 45
PA50W()-6J/6B-A14 50 | 56
PA4x10E()-6J/6B-A14 | 4x10 | 11
PA4x20E()-6J/6B-A14 | 4x20 | 11
PA4x30E()-6J/6B-A14 | 4x30 | 11
PA5x10E()-6J/6B-A14 | 5x10 | 11
PA5x20E()-6J/6B-A14 | 5x20 | 11
PA5x30E()-6J/6B-A14 | 5x30 | 11
PA6x10E()-6J/6B-A14 | 6x10 | 11
PA6x20E()-6J/6B-A14 | 6x20 | 11
PAG6X30E()-6J/6B-A14 | 6x30 | 11
PA8X20E()-6J/6B-A14 | 8x20 | 11
PA8X30E()-6J/6B-A14 | 8x30 | 11

10




505

L1

mE . He4
veS d L1 = M2OX1 ©
PAGOR()-B01-A20 60 | 18 | 3
T
P
M10X1.5 | %HBB
[ L [
|
I:F
PASOR()-B01-A20 80 | 23
PA100R()-B01-A20 100 25
M10X1.5
PA80B()-B01-A20 80 39
!
ofe]
PA150R()-B02-A20 150 45
PA200R()-B02-A20 200 50
—Gl/4
T
2[ ‘_ H30
| B Me4Xe =
ié
M20X2——] T e’
| -
S ;
\
o4

11




Y

b

8.5

23.5

11

uiRe) d | L1
M-PA1.5AF()-4B-E | 15
M-PA2AF()-4B-E 2
M-PA3.5AF()-4B-E | 3.5
M-PA4J()-4B-E 4 | 55

ng d
M-PA3.5x7F()-4B-E | 3.5x7

=

L

N

3

10

40

.

'\

[

8.5

£3.5

1

14.5

i

@

10

10




g d L1
M5-PASAF()-6B-A 5 6.5
M5-PABAF()-6B-A9 6 65 | o @
M5-PABAF()-6B-A9 8 7 _
M5-PA4J()-6B-A9 4
M5-PABJ()-6B-A9 6
M5-PA8J()-6B-A9 8
M5-PA5C()-6B-A9 9.5
M5-PA7C()-6B-A9 10

13

11

L HlZ
L\::{ g :1‘
| ~—M9X1
i
— -
Dol
7))
b ]
HiP
=
~—M9aX1
-
H1?
A
~—M9IX1
s -
Dol




11

i Hle

M5-PA10AF()-6B-A9 10 7.5
M5-PA15AF()-6B-A9 15 8
M5-PA10AAG()-6B-A9 10 7.5
M5-PA15AAG()-6B-A9 15 7.5
M5-PA20AAG()-6B-A9 20 10
M5-PA10BAG()-6B-A9 10 7.5
M5-PA15BAG()-6B-A9 15 7.5
M5-PA20BAG()-6B-A9 20 10
M5-PA10ABG()-6B-A9 10 13.5
M5-PA15ABG()-6B-A9 15 16

14

~——M3X1

12
14

L1

11

i Hle

~—M9aX1

12
14

L1




11

1955
2.0

L1

11

£

L1

11

e d | L1
M10-PA5AF()-6B-A9 5| 65
M10-PABAF()-6B-A9 6| 65
M10-PABAF()-6B-A9 8 | 7
M10-PA4J()-6B-A9 41 9
M10-PA6J()-6B-A9 6| 9
M10-PA8J()-6B-A9 8
M10-PA5C()-6B-A9 9.5
M10-PA7C()-6B-A9 10

15

£2.5

L1




11

15.5
ai=e)

L1

11

M10-PA10AF()-6B-A9 10 7.5
M10-PA15AF()-6B-A9 15 8
M10-PA10AAG()-6B-A9 10 7.5
M10-PA15AAG()-6B-A9 15 7.5
M10-PA20AAG()-6B-A9 20 10
M10-PA10BAG()-6B-A9 10 7.5
M10-PA15BAG()-6B-A9 15 7.5
M10-PA20BAG()-6B-A9 20 10
M10-PA10ABG()-6B-A9 10 | 13.5
M10-PA15ABG()-6B-A9 15 16

16

ci=ne

L1




1

M8X1.25
H10

[Ip}
—

22

Ll

+—H10

22

ute) d L1
M-PA15F()-6B-A8 15 8
M-PA20F()-6B-A8 20 | 10
M-PA20FO()-6B-A8 | 20 | 10
M-PA20BG()-6B-A8 | 20 | 19.5
M-PA10J()-6B-A8 10 | 95
M-PA15J()-6B-A8 15 | 11
M-PA20J()-6B-A8 20 | 13
M-PA25J()-6B-A8 25 | 155
M-PA10C()-6B-A8 9 | 183
M-PA15C()-6B-A8 15.2 | 26.1
M-PA18C()-6B-A8 18.6 | 26.3
M-PA20C()-6B-A8 20 | 26.3




e d | L1
MB-PA25AG()-6B/6J-A10 25 | 19.3
MB-PA30AG()-6B/6J-A10 30 | 19.3
MB-PA30BAG()-6B/6J-A10 | 30 | 16.3
MB-PA40AG()-6B/6J-A10 40 | 19.3
MB-PA50AG()-6B/6J-A10 50 | 19.3
MB-PA20BF()-6B/6J-A10 20 | 125
MB-PA25F()-6B/6J-A10 25 | 14
MB-PA30F()-6B/6J-A10 30 | 12
MB-PA35F()-6B/6J-A10 35 | 14
MB-PA40F()-6B/6J-A10 40 | 14
MB-PA50F()-6B/6J-A10 50 | 15
MB-PABOF()-6B/6J-A10 60 | 21
MB-PABOF()-6B/6J-A10 80 | 23
MB-PA95F()-6B/6J-A10 95 | 235
MB-PA30FO()-6B/6J-A10 29 | 12
MB-PA20L()-6B/6J-A10 20 | 17.2
MB-PA30L()-6B/6J-A10 30 | 17.2
MB-PA40L()-6B/6J-A10 40 | 17.2
MB-PA20R()-6B/6J-A10 20 | 10
MB-PA25R()-6B/6J-A10 25 | 11
MB-PA30R()-6B/6J-A10 30 | 11
MB-PA40R()-6B/6J-A10 40 | 14
MB-PA50R()-6B/6J-A10 50 | 15
MB-PA30C()-6B/6J-A10 32 | 375
MB-PA40C()-6B/6J-A10 42 | 46
MB-PABOC()-6B/6J-A10 62 | 55

18

M6 X1

1

MIOX1.5

20

32

L1

MEX1

1

M10X1.5

32

L1

11

MI0X1.5

20

32

L1




43

MB-PA30BG()-6B/6J-A10 | 30 | 30.5 ?t -
MB-PA40BG()-6B/6J-A10 | 40 | 30.5 i1 }
MB-PA50BG()-6B/6J-A10 | 50 | 36.5 gy TEE
MB-PA75BG()-6B/6J-A10 | 75 | 46 WEE g
E | H14
MB-PA20B()-6B/6J-A10 20 | 19 - T4
MB-PA30B()-6B/6J-A10 30 | 23 el
MB-PA40B()-6B/6J-A10 40 | 30 -
MB-PA50B()-6B/6J-A10 50 | 32 — :
MB-PA30J()-6B/6J-A10 30 | 18 -
MB-PA35J()-6B/6J-A10 35 | 18 I
MB-PA40J()-6B/6J-A10 40 | 18 | -
MB-PA50J()-6B/6J-A10 50 | 20 ) s
MB-PA60J()-6B/6J-A10 60 | 25 :
MB-PA70J()-6B/6J-A10 70 | 26 ’
MB-PA80J()-6B/6J-A10 80 | 26 o0 Y g IL
( |
MB-PA20LB()-6B/6J-A10 | 20 | 22.2 N —— J
[ od
?5
pi
MB-PA4x10E()-6B/6J-A10 4x10 B
MB-PA4x20E()-6B/6J-A10 4x20 MIDXLS
MB-PA4x30E()-6B/6J-A10 4x30 B g
MB-PA5x10E()-6B/6J-A10 5x10 3
MB-PA5x20E()-6B/6J-A10 5x20
MB-PA5x30E()-6B/6J-A10 5x30 et
MB-PA6x10E()-6B/6J-A10 6x10
MB-PA6x20E()-6B/6J-A10 6x20 2
MB-PA6x30E()-6B/6J-A10 6x30
MB-PA8x20E()-6B/6J-A10 8x20
MB-PA8xX30E()-6B/6J-A10 8x30

19




uils) d | L1
MJ-PA25AG()-6J/6B-A10 | 25 | 19.3
MJ-PA30AG()-6J/6B -A10 | 30 | 19.3
MJ-PA30BAG()-6J/6B -A10 | 30 | 16.3
MJ-PA40AG()-6J/6B -A10 | 40 | 19.3
MJ-PA50AG()-6J/6B -A10 | 50 | 19.3
MJ-PA20BF()-6J/6B -A10 | 20 | 12.5
MJ-PA25F()-6J/6B -A10 25 | 14
MJ-PA30F()-6J/6B -A10 30 | 12
MJ-PA35F()-6J/6B -A10 35 | 14
MJ-PA40F()-6J/6B -A10 40 | 14
MJ-PA50F()-6J/6B -A10 50 | 15
MJ-PABOF()-6J/6B -A10 60 | 21
MJ-PABOF()-6J/6B -A10 80 | 23
MJ-PA95F()-6J/6B -A10 95 | 23.5
MJ-PA30FO()-6J/6B -A10 | 29 | 12
MJ-PA20L()-6J/6B -A10 20 | 17.2
MJ-PA30L()-6J/6B -A10 30 | 17.2
MJ-PA40L()-6J/6B -A10 40 | 17.2
MJ-PA20R()-6J/6B -A10 20 | 10
MJ-PA25R()-6J/6B -A10 25 | 11
MJ-PA30R()-6J/6B -A10 30 | 11
MJ-PA40R()-6J/6B -A10 40 | 14
MJ-PA50R()-6J/6B -A10 50 | 15
MJ-PA30C()-6J/6B -A10 32 | 375
MJ-PA40C()-6J/6B -A10 42 | 46
MJ-PABOC()-6J/6B -A10 62 | 55

20

M6 X1

MeX1

M10X1.5

™)

26

HL4




I }MIOMS

| ™
i QU]
|

) HL4
|

26

MJ-PA30BG()-6J/6B-A10 30 30.5
MJ-PA40BG()-6J/6B-A10 40 30.5
MJ-PA50BG()-6J/6B-A10 50 36.5
MJ-PA75BG()-6J/6B-A10 75 46
MJ-PA20B()-6J/6B-A10 20 19
MJ-PA30B()-6J/6B-A10 30 23
MJ-PA40B()-6J/6B-A10 40 30
MJ-PA50B()-6J/6B-A10 50 32
MJ-PA30J()-6J/6B-A10 30 18
MJ-PA35J()-6J/6B-A10 35 18
MJ-PA40J()-6J/6B-A10 40 18
MJ-PA50J()-6J/6B-A10 50 20
MJ-PA60J()-6J/6B-A10 60 25
MJ-PA70J()-6J/6B-A10 70 26
MJ-PA80J()-6J/6B-A10 80 26
MJ-PA20LB()-6J/6B-A10 20 22.2
MJ-PA4x10E()-6J/6B-A10 | 4x10 11
MJ-PA4x20E()-6J/6B-A10 | 4x20 11
MJ-PA4x30E()-6J/6B-A10 | 4x30 11
MJ-PA5x10E()-6J/6B-A10 5x10 11
MJ-PAS5x20E()-6J/6B-A10 o5x20 11
MJ-PASx30E()-6J/6B-A10 5x30 11
MJ-PA6x10E()-6J/6B-A10 | 6x10 11
MJ-PA6x20E()-6J/6B-A10 | 6x20 11
MJ-PA6x30E()-6J/6B-A10 | 6x30 11
MJ-PA8x20E()-6J/6B-A10 | 8x20 11
MJ-PA8x30E()-6J/6B-A10 | 8x30 11

21

M6 X1

26

11




rithe) d L1
M-PAGOF()-B01-A16 60 | 18.5
M-PA8OF()-B01-A16 80 | 20.5
M-PA9S5F()-B01-A16 95 | 21
M-PA75BG()-B01-A16 | 75 | 43.5
M-PA60J()-B01-A16 60 | 22.5
M-PA70J()-B01-A16 70 | 23.5
M-PA80J()-B01-A16 80 | 23.5

ZiURS) d L1
M-PA90C()-B01-A16 88 | 87.5
M-PB90C()-B01-A16 88 | 87.5

40

Het
M10X185
[
:\ A 7
\
[
?d
1761/8
Mi6X15
i
N [ . Ha1
B T ™
ol ’
“ O]
‘ <~
|
|
| Hel
M10X1‘85\L :
|
|
{ |
1 3
|
|
| 1
‘ @d
[ Gl/8
L MIEXLS
=;
\
‘ )
‘ ip!
61/8 ‘
M12X1.25
)]
|
| 1)
| N
|
(I 1
| o
|
\
L
|
|
|
[




it d L1
M-PA120F()-B16 120 | 25.5
M-PA150F()-B16 150 | 32.5
M-PA200F()-B16 200 | 37.5
? /0

30

Y

L1

23






